

1964 NEVADA COUNTY

ANNUAL CROP AND LIVESTOCK REPORT



Nevada County Department of Agriculture

VETERANS MEMORIAL BUILDING
255 SOUTH AUBURN STREET
GRASS VALLEY, CALIFORNIA

NEVADA COUNTY
DEPARTMENT OF AGRICULTURE
255 South Auburn Street
Grass Valley, California

Charles Paul, Director
State Department of Agriculture

The Honorable Board of Supervisors
Nevada County

Gentlemen:

In compliance with Section 65.5 of the Agricultural Code, I am submitting the 1964 Nevada County Annual Crop and Livestock Report.

This report covers the acreage, production and value of all crops produced, value of livestock sold, livestock and poultry products sold during the year 1964. The January 1, 1965 inventories for livestock and poultry are for informational purposes only and are not included in the production and value figures for the county.

All figures representing value include the cost of production, harvesting and shipping and do not represent net income.

As Agricultural Commissioner I wish to express my appreciation to the farmers and ranchers who volunteered to give the information to make up this report.

Respectfully submitted,

John W. Phillips

John W. Phillips
Agricultural Commissioner

NEVADA COUNTY

SUMMARY

	<u>1963</u>	<u>1964</u>
FRUIT AND NUT CROPS	\$ 115,160	\$ 75,220
LIVESTOCK	590,540	770,970
POULTRY	448,720	278,910
LIVESTOCK AND POULTRY PRODUCTS	258,450	175,950
FIELD CROPS	576,600	561,600
	<hr/>	<hr/>
TOTALS	\$1,989,470*	\$1,862,650

JANUARY 1, 1965 INVENTORIES OF LIVESTOCK AND POULTRY
(in number of head)

	January 1, 1964	January 1, 1965
<u>CATTLE AND CALVES</u>		
All	4,332	7,866
Milk cows 2 years and over	359	217
<u>SHEEP AND LAMBS</u>		
All	1,277	2,289
<u>HOGS AND PIGS</u>		
	80	127
<u>HENS AND PULLETS (laying age)</u>		
	16,832	13,763

*Revised

Item	Year	PRODUCTION		Unit	Per Unit	VALUE
		No. of Head	Total Liveweight			Total
<u>CATTLE & CALVES</u>						
TOTAL	1964	5,443	-	-	-	\$ 747,400
	1963*	3,506	-	-	-	564,060
BEEF-						
a. Breeding Stock	1964	1,190	-	Head	\$250.00	298,000
	1963*	585	-	Head	225.00	132,000
b. Feeders	1964	2,790	13,200	cwt	19.00	251,000
	1963*	1,660	9,770	cwt	23.00	225,000
c. Slaughter Stock	1964	1,040	8,390	cwt	16.50	138,000
	1963*	1,140	9,410	cwt	20.00	188,000
<u>DAIRY</u>						
a. Breeding Stock	1964	198	-	Head	250.00	49,500
	1963*	32	-	Head	252.00	8,060
b. Slaughter Stock (cows & calves)	1964	225	981	cwt	11.10	10,900
	1963*	89	648	cwt	17.00	11,000
<u>BROILERS & FRYERS</u>						
	1964	367,000	1,317,000	lbs	.165	217,000
	1963	650,000	2,242,049	lbs	.17	381,100
<u>OTHER CHICKENS</u>						
	1964	11,700	47,300	lbs	.072	3,410
	1963*	12,270	51,960	lbs	.06	3,120
<u>TURKEYS</u>						
	1964	-	-	-	-	-
	1963	7,500	150,000	lbs	.21	31,500
<u>PHEASANTS</u>						
	1964	19,500	-	Birds	3.00	58,500
	1963	11,000	-	Birds	3.00	33,000
<u>SHEEP & LAMBS</u>						
	1964	867	869	cwt	20.00	17,400
	1963*	760	670	cwt	28.00	18,800
<u>HOGS & PIGS</u>						
	1964	194	373	cwt	16.50	6,170
	1963*	355	404	cwt	19.00	7,680
<u>TOTALS</u>						
	1964					\$1,049,880
	1963*					\$1,039,260

*Revised

NEVADA COUNTY

FRUIT, NUTS AND VEGETABLE CROPS

1963 - 1964

Crop	Year	Bearing Acreage	PRODUCTION		Unit	VALUE		
			Per Acre	Total		Per Unit	Total	
<u>APPLES</u>								
TOTAL	1964	83	4.5	372	Ton	\$126.00	\$ 46,900	
	1963	110	6.87	755	Ton	104.65	79,100	
Fresh Market	1964	-	-	372	Ton	126.00	46,900	
	1963	-	-	537	Ton	127.00	68,300	
Processing	1964	-	-	-	-	-	-	
	1963	-	-	217	Ton	50.00	10,800	
<u>PEARS, BARTLETT</u>								
	1964	173	.35	61	Ton	71.60	4,370	
	1963*	419	.32	141	Ton	129.00	18,040	
MISC. FRUIT, NUT, & VEGETABLE CROPS	1964	(Peaches, Plums, Walnuts, Bushberries and Vegetables)						23,950
	1963							18,020
TOTALS	1964							\$ 75,220
	1963							\$115,160

*Revised

NEVADA COUNTY

LIVESTOCK AND POULTRY PRODUCTS

1963 - 1964

Item	Year	Production	Unit	VALUE	
				Per Unit	Total
<u>MILK</u>					
TOTAL	1964	19,720	cwt	-	\$ 96,300
	1963	21,120	cwt	-	102,200
Market	1964	16,200	cwt	5.22	84,600
	1963	16,200	cwt	5.40	87,500
Manufacturing	1964	3,520	cwt	3.32	11,700
	1963	4,920	cwt	3.00	14,700
<u>EGGS, (Chicken)</u>					
Market	1964	176,000	doz	.28	49,300
	1963	387,380	doz	.37	143,300
Hatching	1964	32,300	doz	.64	20,700
	1963*	13,400	doz	.59	7,910
<u>WOOL</u>					
	1964	18,200	lbs	.53	9,650
	1963*	10,080	lbs	.50	5,040
TOTALS	1964				\$175,950
	1963				\$258,450

FIELD CROPS

Crop	Year	Harvested Acreage	Unit	VALUE	
				Per Unit	Total
<u>PASTURE & RANGE</u>					
Irrigated	1964	7,610	Acre	40.00	\$304,000
	1963*	7,980	Acre	40.00	319,000
<u>Other</u>					
Woodland	1964	73,000	Acre	.35	25,600
	1963*	73,000	Acre	.35	25,600
Non-Woodland	1964	116,000	Acre	2.00	232,000
	1963	116,000	Acre	2.00	232,000
TOTALS	1964				\$561,600
	1963				\$576,600

*Revised